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L. 7a mwn: Ist cup (V177p) (recapped dispute from x:n m>72)
a. w7z 1st recite wy1p then 1
i. Reason: the day is the cause for drinking the wine
b. 772 15t recite 1 then Wy 1'p
i. Reason: the w11p is said over the wine
1.And: 1 is more frequent; DTp TN ;1IN 1RV VN
c.Ruling: 013 na%n
i. Either: stated before the 9 na (» parvy)
ii. Or: to those who ignore 91p-na (01 n"a :yWI7Y ')
II. 2 mwn: food brought before the reader
a. J77rm: brought which is dipped
i. 57aw7 infer that N> Moy mxn
1.Argument: otherwise, no need for a 2" dipping of mmn (as 1n)
2.Challenge: perhaps it is done now to keep children interested
a) Block: if so, why teach nn?
b) Answer: if mentioned other vegetables, 8”10 only there need 2"¢ dipping
3. Apprarently: it is a dispute between 01 "1/p"n:
a) j7’rm may eat Y2 o early and %2 at “nn”
b) sor ’1. even if he ate it earlier, mx¥n to bring it later
i. Rejection: perhaps *0v '7 also demands it for children’s curiousity
ii. Block: if so, why does he reckon it as "mxn”?
ii. m>320m M7r7 ¥ 27 - even if you only have kon, make 8”naa at 1%t dipping and n nYaR Hy... at 2nd
1.x70n "1 make both m>71 1% time then eat 7191 without a 1392 (n25n)
2.8377 77772 80X 1. made sure to find other vegetables to avoid “mixing between the opinions”
b. Bring: nxn, nm, noyn
i. And: 2 cooked items
1.x2177 /1. beets and rice
a) Na1 was careful to find them since 8110 "7 used them as an example
b) »wx ’7.: this proves that we reject 121 who holds that rice is 137 11 and is susceptible to yin
2./prm: even a fish and egg with it is sufficient
3.901 27 we require 2 kinds of meat; commemorative of 8”p and 7 nyan
a) N2227 even meat and its gravy
c. 5101 not a mxn (p”n) — brought to soften sharpness of 110
i. Tangent: various “antidotes” to toxins; nan < radish; radish leek; all others (inc. leek) >hot water
ii. ¥7an7 according to pyT¥ 12 R™M —itisa mxn
1.715 /7. commemorates apple tree (v3 and associated w1Tn above)
2.21712 71 commemorates mortar
a) »an: therefore, we make it tangy (like apples) and thick (like mortar)
b) as7772: supporting 11y 3, spices commemorate straw; NoYIN is a commemoration of the mortar
d. When: there was a wTpn, they would bring the entire noa before him
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III. Eating 7vm nxn together (v1)
a.2571 (1mKm 2533 pon): in our day, 1m nxn should not be eaten together
i. Reason: n¥nis a RN”MIIRT MXN, 1NN is 1313717, 210 nullifies nxn
ii. Ewven: according to 1ptn Y90, who requires eating them together wTpnn jn1a
1.That only: holds true when both are Xn»mrT (or 2 132297 nn¥n) that there is no nullification
iii. swx ’7 13271 allow but don’t require eating noa with 2vm nxn (Y90 requires)

1.Our practice: Eat n¥n separately 13713, then eat 1771 separately n>111, then eat 91m n¥n w/o n273, WTPRY 1
IV. Tangent: Washing for “dipped” items

a. NN ’7. requirement to wash for anything dipped in a liquid
b. 977 infer that we must dip Ron to kill toxins in bitterness
i. Argument: otherwise, why wash?
ii. Rejection: perhaps toxins are killed off by smell and we wash in case he dips
iii. And (977) don’tleave Xon in no1n too long; must retain 1IN DYv
c.X7on 77 even if you washed for “1%t dipping”, must wash for “2"d dipping”
i. Students of 9™ statement was made in re: regular meals
1.But: at 910, he knows in advance about 2" dip and wouldn’t forgot to keep hands “pure”
ii. 977 statement was made in re: 770; normally there aren’t 2 dippings

1.And: 2 washing needed since Y9m nmn are a long interruption
V. Acceptable modes of eating 17m nx¥n

a. »a1 swallowing n¥n is valid, not 7 (need 710 Dyv)

i. And: eating them within a wrap — neither is valid (even the n¥n has to be directly in his gullet)
b. »wx 72 ’p’w "z NOIM M0 N3N in front of everyone

i. Remove: tray-table (after 1%t dipping) from leader only
c. x217 /7. all (noyn ;1M n ,nxn, removal of tray) from leader only n35n
i. Removal of table: so that children will ask

ii. Story: »an asked about removal of table, exempting them from "ninwi nn”
VI. Interpretation of »my onY (v2)

a. SN (and supporting 8n7773): bread of “response” (vehicle for nn) —my
b. Just as: poor man has only a slice, similarly n¥n mxn is a slice (broken piece)
c. Just as: poor man does his own baking, similarly everyone bakes his own nxn (to keep from ymnn)
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